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1 9:00 RIEM x =EHM 20 » 6 1 9:00 xt
2 9:35 b {4 x =2HA 44 xt 8 2 9:35 *t
3 10:10 AHEIBA x =58 58 xt 12 3 | 1010 xt
4 1045 | E#EE-REM X TEM 7 pol 16 4 | 1045 xt
5 11:20 ] x AHEB 39 xt 9 5 11:20 *t
6 11:55 EHA x ABHA 9 #t 57 6 | 11:55 xt
7 12:30 TEM x TRIEM 24 xt 6 7 12:30 *t
8 13:05 ABMB X THREE 20 xt 45 8 | 1305 xt
9 13:40 piid x =58 28 xt 17 9 | 1340 xt
10 14:15 =M X  EFE-EM 12 #t 26 10 | 1415 *t
11 14:50 THRIE x RR 29 xt 20 11 | 14:50 *t
12 15:25 x xt 12 | 15:25 *t
13 | 16:00 x 13 | 16:00




